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champagne problems

Taylor Swift
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You booked the night train for a rea - aon so you could
_9 T X  — X f K K— K f K K—1 K
Y A %] I I\, I\, I I\I : 7 I 1] 1] I 1] '/4 I 1) 1] I 1]
o 5 3 335 s 1| % =3 s 5—5% 2
N—
m,
- - i o @ J J @ @ [ [ J
y.4 O
O o
7
9 ; T T F T
(& N—H N N—+ I = = — P — ] | —
SV A— T T [ N1 1 o & & & e E———
D) [ 4 [ 4 ¥ o —_1 —_
o o
S —
sit there in this  hurt. Bust-ling crowds or si-lent
4 | N \ | \ | |\ \ | |\ i ‘R ‘R i ‘R
y 4\ o | N N | N [ | A A A [ | | | | 1]
[ an / I 1) 1] I 1] / 7 / i i
~V A
o % 3_3 % H H =%% &
N—

A

. . .

i
L
a
a
| 1
| 18
0




